PHIL 251: 501-509: Introduction to Philosophy (Daniel, Fall 2008)

1. How could Socrates’ methodic search for meaning in life (Ch. 2) be used both to support and to undermine Sartre’s claim that human beings have no essence (Ch. 4)?

a. Issue and positions: you need to explain the role of Socrates’ method in his search for meaning and Sartre’s claim that human beings have no essence, and explain how Socrates’ view could both support and undermine Sartre’s claim.

b. Arguments: you need to state clearly Socrates’ and Sartre’s arguments, and indicate how those arguments can be used to show how Socrates’ view could both support and undermine Sartre’s claim.

c. Objections: you need to identify objections against thinking that the Socratic method gives our lives meaning and against Sartre’s view that human beings have no essence, and show how the Socratic method cannot be used both to support and undermine Sartre’s claim.

d. Replies to objections: you need to show clearly how Socrates and Sartre could respond to objections to their views, and how Socratic method could be used to both support and undermine Sartre’s claim.
e. Implications: you need to indicate how adopting each thinker’s position would have implications for other aspects of philosophy (e.g., knowledge, reality, moral responsibility) and how we live.

2. How could Plato and Descartes use their dualistic views of reality (Ch. 5) to explain the appeal of both determinism and libertarianism (Ch. 4)?
a. Issue and positions: you need to identify how Plato and Descartes describe dualistic views of reality and how their different versions of dualism can be used to explain the appeal of both determinism and libertarianism.

b. Arguments: you need to state clearly the different arguments Plato and Descartes adopt in support of their views, and indicate how those arguments apply to the determinist-libertarian debate.
c. Objections: you need to identify clearly the problems with adopting Plato’s and Descartes’ dualistic views and with trying to apply those views to the determinist-libertarian debate.

d. Replies to the objections: you need to indicate clearly how Plato and Descartes could respond to objections to their views and to objections against using their different versions of dualism in the determinist-libertarian debate.
e. Implications: you need to indicate how adopting each thinker’s view would have implications for other aspects of philosophy (e.g., knowledge, reality, moral responsibility) and our lives (especially regarding our freedom).

3. How does Hume’s theory of the self (Ch. 3) depend on his theory of knowledge (Ch. 6) in a similar way to how Kant’s theory of the self (Ch. 3) depends on his theory of knowledge (Ch. 6)?
a. Issue and positions: you need to identify how Hume and Kant describe the self and how their different theories of the self depend on their different theories of knowledge.
b. Arguments: you need to state clearly the arguments Hume and Kant use to support their views for their theories of knowledge and for how those different theories support their theories of the self.
c. Objections: you need to identify clearly the problems with adopting Hume’s and Kant’s theories of knowledge and with relying on them for their different theories of the self.
d. Replies to objections: you need to indicate clearly how Hume and Kant could respond to objections to their different theories of knowledge and to objections against using those theories to support their theories of the self.
e. Implications: you need to indicate how adopting each thinker’s view would have implications for other aspects of philosophy (e.g., knowledge, reality, moral responsibility) and how we live.
